PR a7 "IN K PYTR L7102

— IRRY Ra2 18531 F5%9% 21 R dpPNR
Rabi Yirm’yoh asked; but by an unclean animal
Yy

Overview

T1YoR "M explained that if one is wTpn a woman with w"yn mvn she is nwpn (and
there is no issue), since a woman knows that the w"v» nwn cannot be exchanged
through the 1217°p, she is a agreeing to take the money to 2°9w17° and spend it there
as w"yn. 717 " challenged this logic, for everyone knows as well that we cannot
exchange w"vn myn for a Axnv 7”2 and nevertheless if one bought a ARV M7
with w"vn myn the rule is 27312 %o%°, and we do not say 121 ¥7 27X, Our MdHOIN
elaborates on this question.

= 9799 DTN 129N XYY 17235 DINY 99NRP 291 17%9N) MYN NP0y HONNNY NMINI NINRY
This nxnv 7272 is not fit that the w"v»n ny» should be transferred to it, but
nevertheless the mwn states that the buyer should eat in 25w food
corresponding to the value of the axnvw 7172 (or w"vn), and we do not say, a

person knows that w"y» is not 21 on a 7X»v 773, and therefore the seller will spend the

money in 2717, but rather we insist that the buyer eat 77315 —
- DYIY19%2 )7230 DONY 5y 91919 155 1IN 993 HYN %33 12 ON)

So therefore by the 117> of a woman (with w"v»n) we should also have said

that the husband eat 371> (the value of the Pw17T°p) in 2%wI= -
- Y9un MYN NP *NPIvAY 999 N8 1139 SanT *pv0pa WD)

And >''wn explained that with 'J7332 oK', the 71wn means to say that the buyer

(of the RnY 712) should take his own money -
- ©YHYYWYP2 BYIN B 1IN MM Y BOYDINMD 175 999D 152 MYNAY 0PN Y3 9N

And the buyer should say, ‘wherever the monies of this sale are in the
possession of the seller, those monies should be exchanged on these monies (of
the buyer)’, and the buyer should bring these monies up to 2°»217> and spend
them there for w"vn.

nvoIn asks:
= 99991 NY3YI TNV NY XNPIN XN DNAYAN 13 PNYY 229 AYPN)

"In our text the Xn3 reads > (instead of 'X771).

% The husband in this case is the buyer (of the woman), so he too should eat 77315 and not depend that the woman (the
seller) will use the money in °5w1.

Fm At

* The n"2n1 N amends this to read 'mp1»nT (instead of MPY?MY).
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And the X'"21 asked, but we will have shortly ® established this case where the

seller ran away (which explains why we do not rule ampn? 227 1) -
- “ymwnaa PRY 937 HONN DN 1PN 297 BIIND 9159 XN NN )5 ON)

So therefore how can the buyer exchange his money with the monies of the
seller, since a person cannot be %91 something which is not in his possession —

mooIn offers a proof that one cannot be 99m» a N2 WKW 127:
- 5190387 NOPNYA (v, 00 97 x0p x32) NI DI ININTD

As the X713 states in 572192 292 by the discussion regarding the ‘modest ones’-
= WPAY P9I DIN DAY DYYYAN YNNI XYY 5T 9IRT 1IN 229 72997

Where the R9%22 challenges the view of ''" who maintains, one who stole an
item but the owners were not wx>n» from retrieving it, the rule is both of them

(the owner and the thief) cannot be w7 this item -
= IMVYAI IINRY 29D NN ITY IINY ’9Y M}

This thief cannot be w71 it because it is not his (for the owners were not wX»nn),

and the owner cannot be w777 it because it is not in his possession -
- Y950 mun Yy °Psinm 105 Nt VHYIN Y3 BIIIN 1PAY TPININT INDNI 70999

So the X773 asked on " from the case of ¥ux, who would say, ‘whatever is

picked from these vines shall be exchanged for these monies’ -
- Pomonnn Y5 »wm Purpnd 950 mwnt NnYN

And the X713 answered, the Pyux did not say, ‘what was picked should be ?71m7’,
but rather they said, ‘whatever will be picked should be 19277 my»n 5¥ 971’ (and at
that time the M0 were PT Mwa2). It is evident that the X1n3 compares Y9
to W72, The question remains how can he be %91 on something which is 1w 11°R?!

> On the very top of the ‘2 T»y. See “Thinking it over’ # 1.

% See “Thinking it over’ # 2.

7 One may argue that perhaps one cannot be w>7pn a \Mw12 WKW 127, but nevertheless he can be Yorn on a XY 727
1MwA2. MooIn disabuses us of this notion.

¥ The xm there is discussing vineyards that are *y21 013 (which may not be eaten outside 2°9w1 without 979°),
however strangers would illegally take the fruits off the vines and eat them nevertheless.

’ The Py (who were meticulous in their observance) did not want people to transgress the 119°X of *¥a7 23, so
they said, whatever fruits will be picked from these vines will be redeemed by monies which they set aside for this
purpose. The grapes will then be 1211, and the Py11¥ would take the money (which received the 7w 7P of *¥21 073) to
be eaten in 2°>w1 (°va1 012 and w"yn have similar laws).

' The question on *"7 is how can the P¥1¥ be Y5m» the *v21 275 which was already picked, since it was not in their
mw" anymore; it was in the Mw" of the pickers.

"' The n"21 N3 amends this to read XnoX vp2NAT 23 *1wn 1997 (instead of Xn9X 1297).

"2 The case of 1"yx is regarding 912°m, the ruling of *"7 is regarding w7p, and nevertheless the X723 sees them as the
same (therefore asking from 712°r of 1311% on w7pn of *"); proving that one cannot be %m on a MW 11RY 27, SO
here too how can we be 7m» money on the monies of the 1317, since those monies are not in the w1 of the buyer?!
13 See footnote # 11 that these words (oponnn 93 2wnY) are inserted previously and are deleted here.
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N1B0IN answers:
= HPIYY YMDIPT RDIP NON N1 PRT DNYAN 12 PHYY 229 ¥9)

And the X''2°1 answered that this rule of 77315 %0X° is only a fine, for they

punished the buyer to eat 17315 in 251 -
= 990 2 DIVTP MYNN OXYY YaN

But in reality the monies in the possession of the seller remain holy (they remain
w"yn money and the 70 is obligated to eat them in 2°%w17), since the buyer cannot be %911
them for they are not npY7n nwAA2.

mooin offers an alternate solution:
= 99991 22 YWYNN HINY DI NPITAY NIN 2IRY Y9I 9NN 19929 2909

And =2°8» 7'"777 explained that here it is different, for the buyer can be %512 the

w''v» which is in the possession of the seller (even though it is not np77 mwn3) -
- 19393 XYW BRY 19 1o ¥991mY 19 Xy matt oywn

Because it is advantageous for the seller that the money be %°nnn, and we may

act for the benefit of a person even not in his presence.
- by 1105 %1 MY Byon N9t RNT

For 11721 is effective on account of mm»w, so the buyer is like the m»w of the
seller to be 7mn the money —

mooIn proves his point:
= NDIN DOYA NYT TO98 19%30 DY IDYN DN DN SPAYT (3,99 97 D132 13999N 33 5N)

And this is also what the X3 states in 29971 noon, where the X 2 queries there, if
someone separates 772170 from his own produce for his friend’s 92v produce, is the

knowledge of the owner required for it to be a proper 7170 or not; the query is -
= 19392 NHYYW DINRD 1291 19 NIN 5157 1999 )

Do we say it is a n121 for the owner of the 92 produce (for his 22v will be [partially]

1PIN7), and 17152 R 2TR® 1933, so we do not require 27w Ny, for he is certainly agreeable -
= PN MNN Ta¥91Y YWIANRY %D RN NN IN

Or perhaps a person prefers to do a mx» (of 7170 nw1o7) with his own money,

and therefore it requires 2°9v2 ny7 (for it may not be (such) a m>1), since he may not want

someone else to do the mx¥» for him, he would rather do it himself with his own money -
= 11909992 NINN TaAYINY YWIOND 1D NN 9INRT DIVN XX DNN 19D NIYAI XY NI 1)

And the query is limited only to the case there since there is the opposing logic

'* The 721 is now in possession of @"¥» nyn, which he would need to spend in 2>w1. He would much rather have
121 myn which he can spend here. He therefore wants the v"vy» money to be 92111 and become 1°211.
' The necessity for adding this phrase will become clear later in this M50 (see footnote # 18).
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of saying mo17%m2 MIX% 73515 WINRY 779 X1 -
- 15PY9T 13073y NN %3 MAT ON 93 TPIW NYT NN YaN

However, where there is only a n121, like the case here, we do what is a n127 for
him and we are %mn the w"yn myn, which is 79m7 mwa.

mooIn responds to an anticipated difficulty:17
- 997 9139139 NID ©IWNINT N>NNA JAN

However by that case of w112 we cannot say that since it is a n131 for 2°1913 so the
1°911% should be able to be 92rn for them even though it is aMwH2 ROW -
- 072V N1 0195 1PNY D91 DN DNRYY BTN DY

For the 271513 themselves cannot rectify what is in their possession; they cannot
be %9 this *va1 012 and make it 1911 (as opposed to the 19% who can be 9911 the 172w w'"vn) -
= YUNNI XD H1) 9 DAYV 1IN 29NV

For the grapes are not theirs and it is the case of MWN»n1 8?1 913 where the 171

cannot be Yonn/w 7PN, since it is not his -
- Byray 981 KD 9723 179MTY 7Y S8 RY 17IONT 1199

So since they cannot be 7511, they cannot make a 9@ to be 57 for them (however

the 721 can be 9711 the money for it is his, therefore the n?2 can be %% on his behalf) -
1792 PRY 29 DY GN 11299 NPIDN YINY ON PYINT RY 991N 92 MYNNYIY NN NHWYN)

And now it is understood that even when the money is in the possession of the
seller, it will become 1977 if the buyer eats 37315, even though the money is not

in the buyer’s possession -
1935919 IMYY NP AW 19915 MHT NINY 119947

But since it is a n1>7 for the 22, the > becomes his 792 and he is Y917 the
money.

Summary
The 77212 99X is either only a 01p, but the money by the 121 remains w"v» since X

INMWI2RY 71 921 07X (the X"2°7), or the money is 9217 since it is a M1 for the
seller and he can be %7nn himself, therefore the buyer becomes his 17w for the

' There is no downside for the 191 if the w"v» nyn that are 1M1 become 7o,

" The »"7 just concluded that wherever it is a total M1, we can be Y%mn even if it is not 1MwN3, so seemingly by
the case of 1"y¥ it is also a complete Mor for the pickers that the fruit should be 7211, why do we say that the Pyix
cannot be 7mn since it is \Mw12 1R, What is the differe3nce between the case of w"yn, where the buyer can be 25mn
even though it is not 1Mw12, and the case of Py1¥ where they cannot be %7mn if it is not onw12?!

18 [See the X3 previously on 2,30 (and see 77 NIX 237 °0 7" 7% ¥ n"w).] See footnote # 15. Since the 17 of 737 is
mm5w avwvn, so when Minow is not effective (since one cannot make a °%w to do something for him, if he himself is
ineligible to do it), 7°27 is also ineffective.
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Thinking it over

1. The &"2°7 asks (on *"w1) how can the buyer be ?%rm on the myn of the 121, since
the X3 says that the 727 ran away (therefore the money is not 1Mw72 of the
buyer)."” Why was it necessary for the X"2" to base his question on the Xn»»X of
the X773 (that the 721 was 1172), when >"wA clearly states (cited in this No0N) that
the P12 says, 12X 2¥ M2 10 01 T2 MYRAW D3P 22, so obviously the money is
not 1P? nwn2?!

2. The X"2» asks, how can the P17 be Y9nn the money that’s by the 12, since it is
1M1 1K.% Seemingly the money belongs to the 751 legally (he sold him the cow
for the money), so why did not the X"2> ask how can the nY? be 9%n» the money,
since it is 12w 1°X (not only N2 1K) 2?1

3. What would be the ruling by w7p if both the 7213 and the 9131 want to be w>7pn
the stolen item? What would be by 777°1 if both the 2°9v2 and the 1713 want the
stolen item to be Y7 ?*

19 See footnote # 5.

20 See footnote # 6.

21 See 1" MR PO T .
22 See TIMYNT WION XN # 159.
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